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[ - 4 19 ( 24 ) 545 31 1 1 1 34 ( 1 (1) 1 9,578| 9,835 9,835 1,613 1,613 9,578 6|19 |F17
2| W\ B 5 K| ( 121C 7) 294 19 1 1) 1 € 1) 21| ( 4(C 2) 4 13,441| 5,341 5,341| 1,208 1,208 6,610 422 |H6
3l kN F 12 17 ) 382 22 1 (1) Il C 1) 24 ( 1 4{C 2) 4 10, 197| 9,207 9,207 1,194 1,194 4, 040 6|19 |F20
A L = 4 6| ( 8 ) 134 14 1 (1) (1) 15| ( 1 31C 1) 4 13,136| 5,123 9 5,132| 1,139 1,139 5, 420 4|22 |H6
5|8 & A F K| ( 9| ( 12 ) 240 17 1 1 1 20] ( (1 (1) 2/C 3) 2 11,149| 3,496 3,496| 1,108 41 1,149 4, 952 5|24 |B8
6|7 & A ¥ | ( 12| C 13) 329 20 1 1 1 23] ( ( ( 2) 15,320| 5,878 5,878| 1,148 1,148 6, 888 51327 [#l125
E S I I 16| ( 29 ) 425 29 1 1 1 32 ( 1 (1) 1 23,047| 6,659 6, 659 10 1,351 1,361 8, 434 6|16 |H6
8l H db /| ( 13 (C 15 ) 390 22 1 1 24 ( 1 4{C 1) 5 16,264| 6,235 126 6,361| 1,228 21 1,249 8, 153 5|85 2 |B44
9|H # b HF K| ( 16 [ (27 ) 449 28 1 1 30| ( (1) 1 ( 2) 1 25,054| 5,764 61 5,825| 1,157 1,157 12,199 6|15 |12
00 HE A % K| ( 20 | (12 ) 605 29 1 1 1 32| ( 1 (1) 1 28,651 7,875 7,875 1,222 1,222 11, 701 7|62 |#5
1 JE b % g ( 18 (27 ) 531 32 1 1 1 35 ( (1) ( 2) 22,124 9,233 9,233 1,096 1,096 10, 007 6| F21 |F22
120 2 A /b % K| ( 33 [ C 22 ) 1,055 |[( 1) 49 2 1 ( I C 2) 53] ( 1 ( 1) 1 25,083 9,054 48 9,102 53 1,171 1,224 10, 491 6[F47 |H25
131E W A K|« 6 (C 3) 87 12 1 (1) (1) 13| ( (1) 21C 2) 2 21,316 3,725 34 3,759 1,059 1,059 13, 097 4|28 |#6
I Ea S N I 3 I 61 (C 5 ) 129 12 1 1 14| ( (1) 21C 2) 2 16,976 3,857 96 3, 953 39 1,119 1,158 10, 420 5|52 |#6
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2209 B o ¥ K| C2) 15| ( 10 ) 410 23 1 1 1 26| ( 1 ( 1 19,979| 6,907 6,907| 1,359 1, 359 7,670 6|13 |F14
231 = s ¥ K| C4) 19| (17 ) 521 31 1 (1) 1 ¢ 1) 33| ( (1) ( 2) 15,642| 7,989 268 8,257 1,386 1, 386 8, 880 5510 |#H6
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25 JIl /N ¥ K| (C 5) 22| (28 ) 651 |( 1) 37 1 1 1 40| ( 1 (1 1 21,967| 6,280 26 6,306| 1,247 1, 247 11,137 611 |H6
264k m o % |l 2) 6| 6) 157 12 1 1 14| ( (1) 21C 2) 2 19,857| 4,889 199 5,088 1,039 1,039 10,519 5|59 96
27\Fk W A ¥ K| (C 2) 12| (16 ) 257 18 1 1 20 1 1) (1) 31C 2) 4 19,792| 4,944 52 4,996 34 1,132 1,166 10, 550 617 |29
o8lpe m o % k| 3) 11| ( 5 ) 261 18 1 1 20(( 1) 1) 3] ( 3 17,264 4,171 267 4,438| 1,228 1,228 7,252 5|26 |6
290 B o ¥ R C2) 9| (C 7)) 222 15 1 1 171C 1) 1 3] ( 4 18,730| 4,652 39 4,691 1,303 1,303 9,233 4|27 |H6
00 A % | 3) 12| ( 14) 333 21 1 1 23(( 1) (1) ( 2) 15,655| 3,702 660 20 4, 382 1,093 1,093 8, 443 6(l44 |H6
3 5 A ¥ R C 1) e (1) 93 10 1 (1) (1) 1 1) (1) (1 1C 3) 1 19,199| 3,737 53 3,790| 1,033 1,033 6, 296 5| ot B 6
200 o % | C2) 6| 2) 69 1) 1) i ¢ 1) 121C 1) (1) (1 e 3) 1 16,910| 3,115 77 3,192 939 939 8, 680 5|59 |5
3B B A ¥ K| C2) 6| (C 3) 105 13 1 (1) (1) 14| 1) (1 21C 2) 2 15,324| 3,818 71 3, 889 60 1,127 1,187 5, 962 5|85 3 |#H6
4l s\ N % | C2) 7| (C 3) 142 12 1 1 141C 1) (1) (1) e 3) 1 16,663| 2,967 2,967 941 941 9, 080 4|5 07
350 P A ¥ K| 3) 18| (16 ) 529 28 1 (1) I C 1) 30[(C 1) 1 (1) 1 23,145 6,987 45 7,032 1,219 1,219 9,732 7155 |#H6
36[E M o % | 2) 6| 3) 140 12 1 (1) (1) 13[C 1) (1) (1) e 3) 1 15, 714| 3,697 77 3, 774 16 1,154 1,170 6, 723 450 |23
37|28 9 A ¢ K| C 2) 6| ( 3) 68 12 1 (1) (1) 13|1C 1) (1) (1 1{C 3) 1 11,300| 2,241 73 2,314 972 972 7, 805 5|59 B 7
38l wm o % |l 2) 6| 7)) 138 12 1 (1) (1) 13[C 1) (1) 21C 2) 2 11,430 3,651 3, 651 952 952 6, 559 4[F29 |He6
39|d W O o R C2) 4| ( 4) 43 8 1 (1) (1) 9[( 1) (1) e 2) 1 13,705 2,119 5 2,124 926 926 6, 785 6248 |H6
gl % o % | 1) 5| C 1) 46 9 1 (1) (1) 10[C 1) 1 1) e 2) 2 12,548 2,180 32 2,212 947 947 9, 186 4251 |H6
kB AR (2) 6| 8) 128 12 1 (1) (1) 13|1C 1) (1) 21C 2) 2 21,434 3,770 41 3,811 1,119 1,119 11, 759 5|26 0 |6
wlikmma bl C2) 6| 2) 125 12 1 (1) (1) 13[C 1) 1 21C 1) 3 18,427| 4,048 52 4,100 949 949 7,762 5|57 3 11
WBlkBRB AR 1) 3| 1) 37 7 1 1 9[C 1) (1) (1) 1{C 3) 1 11,095| 1,646 369 2,015| 1,088 1,088 5, 570 4[24 3 |H6
4al= & o % |l 1) 6| 1) 171 12 1 1 141C 1) (1) 3l 2) 3 15,427| 3,215 3,215 1,056 1,056 7,874 4|F28 |H4
45|k W OB b % R 2) 14| (C 12) 382 22 1 (1) I C 1) 24| ( 1) 1 (1) 1 26,989| 9,304 72 9,376 1,726 107 1,833 13, 521 717863 |25
46|k At o o 3) 17| (10 ) 460 27 1 1 1 30(( 1) 1 5/ 1) 6 17,773| 4,296 333 4,629 1,235 1,235 12, 547 7|5 2 B 6
AT W % & 1) 4| C 3) 38 7 1 (1) (1) 8[( 1) (1) 21C 2) 2 12,075| 2,825 66 2,891| 1,081 1,081 6, 821 5186 2 |iB4
8| v A % | (1) 6| ( 2) 82 10 1 1 121C 1) (1) 21C 2) 2 10,783| 5,551 5,551 1,053 1,053 4,764 6(l45 |H5
91k E b % &l C2) 9| C 5) 209 16 1 1 18| 1) 1{C 1) 21C 2) 3 17,765| 5,221 25 5,246| 1,281 1,281 11,134 6[*-13 |BH18
500 RO % k| 2) 3| (C 4) 19 7 1 (1) (1) 8[( 1) (1) (1) e 3) 1 22,735 2,419 2,419 915 915 10, 420 6| 2 B 6
51/ R ¥ K 3 11 51 ( 1) i C 1) 6[( 1) 1 1) C 2) 2 13,961 2,286 2, 286 912 912 7,029 B 6
5200 & /% k| ( |l 7)) 255 19 1 (1) i ¢ 1) 211 1) (1) (1) 21C 3) 2 23,842| 6,540 11 6,551 1,363 1,363 13, 362 6|16 |#H6
532 R N K| ( 11| 5 ) 291 17 1 19]1C 1) (1) ( 2) 20,879 6,351 19 9 6,379| 1,377 1,377 5, 476 6211 |H6
54 N /N K| ( 71 C 9) 162 13 1 (1) (1) 14(C 1) 1 3|C 1) 4 21,080| 4,981 17 4,998| 1,237 1,237 8,922 6[F11 |¥8
550 B /A % &l ( 19| ( 20 ) 564 | (1) 29 11 1) 1l ¢ 2) 31| 1) (1) (2) 5/( 4) 5 22,955 7,081 75 7,156| 1,270 1,270 13, 403 6|4 B2 2
56(#5 W B ( 22 | (24 ) 688 38 2 1 1 200 1) 1 (1) 1 20,915 17,517 99 7,616 1,134 48 1,182 9,221 6|56 [#H6
5701 A /A % &l ( 6 (C 3) 79 10 1 1 12/1C 1) (1) 21C 2) 2 20,528| 2,623 13 2,636| 1,011 1,011 10, 373 4|42 B 7
58[F B /N K| ( 121 ( 12 ) 330 18 1 1 1 211( 1) (1 ( 2) 21,248| 4,830 26 4,856| 1,319 24 1,343 10, 407 4|26 |36
59[# H A % &l ( 6| ( 13 ) 157 13 1 1 15/ 1) ¢ 1 21C 2) 3 17,212| 5,150 5,150| 1,103 1,103 7, 759 4|45 x 6
60|% JIL o ow| ( 61 ( 4) 49 11 1 1 133[C 1) (1) (1 e 3) 1 16,049 3,085 4 3, 089 988 988 6, 680 4|45 2 H 9
6L R /N ¥ K| ( 11| ( 11 ) 231 18 1 1 20{( 1) 1{C 1) 21C 2) 3 19,657| 4,541 66 45 4, 652 141 935 1,076 11, 683 6|lBa5 |28
62[l1 W o~ o[ 1) 4] C 1) 45 7 (1) (1) 7 1 1 16, 151 3,280 3, 280 952 952 6,501 325 |7
63[fF @ B PR 4 39 6 1 7] ( e 1) 1 2,505 2, 505 15
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